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	CID
	Subclause
	Page
	Line
	Comment Type
	Comment
	SuggestedRemedy

	426
	22.3.11.5
	120
	50
	TR
	This paragraph is a good introduction but is not as precise as math
	Define these important special cases via math. And normative language. As well, in the same way that the math for a deinterleaver is defined, define the math for a stream deparser

	427
	22.3.11.5
	120
	52
	TR
	"until the last interger block (floor()) of S bits"
	for floor() integer blocks of S bits

	428
	22.3.11.5
	120
	53
	TR
	Sentence starting "Assuming that" needs a rewrite for clarity
	Start with "At this stage, for the current OFDM symbol, each BCC encoder has Ms (where M = [insert equation] and M<s) residue bits …" and keep improving


Response:
AGREE IN PRINCIPLE.
Proposed Resolution Text:
22.3.11.6 Stream Parser
After coding and puncturing, the data bit streams at the output of the FEC encoders are re-arranged into 
[image: image1.wmf]SS

N

 blocks of 
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 bits. This operation is referred to as “stream parsing” and is described in this section.
The number of bits assigned to a single axis (real or imaginary) in a constellation point in a spatial stream is denoted by Equation (22-55) GOTOBUTTON ZEqnNum686446  \* MERGEFORMAT 

 GOTOBUTTON ZEqnNum813133  \* MERGEFORMAT .
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(22-55)
The sum of these over all streams is: 
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Consecutive blocks of 
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 bits are assigned to different spatial streams in a round robin fashion.
Let
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(22-56)
and
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(22-57)
For the first 
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 bits of each OFDM symbol, 
[image: image10.wmf]S

 bits from the output of first encoder are fed into all spatial streams, and then 
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 bits from the output of next encoder are used, and so on.  If 
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 is greater than 
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, then for the last 
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 bits of each OFDM symbol, 
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 bits from the output of first encoder are fed into spatial streams 1 through 
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 (
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 bits per stream), and then 
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 bits from the output of next encoder are used for spatial stream 
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, and so on, where 
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 is the remainder resulting from the division of interger 
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 by integer 
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.
The following equations are an equivalent description of the above procedure.  Bit 
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 at(Ed) the output of encoder 
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 is assigned to input bit 
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 of spatial stream 
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(22-58)

and
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where
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is equal to 
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is equal to 
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is the largest integer less than or equal to 
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is the remainder resulting from the division of integer 
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 by integer 
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Abstract


This document provides resolution for the following CIDs on TGac D0.1 on Stream Parser:





CID: 426, 427, 428





Comments (page and line numbers) are based on D0.1.


Proposed edits are based on D0.4.
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